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0243 =& 3 2| JIEtSESH &M (2l ®R)
20 22 - FHAL - HAAA(Z]H]) Ol &F o4 lE o Hnsz ==

=S Al 15,499,241 15,447,671 51,570 0.33%

MY 13,915,536 14,164,979 A249,443 A1.76%
MREs 1,583,705 1,282,692 301,013 23.47%
HHE 2 ZH 0 0 0 0.00%
Lot SAH 96,972 0 96,972 =5
M - =8 96,972 0 96,972 =5

Hess(#=0121) 96,972 0 96,972 =5
WRAHHXIE(OIBAIZRES) OIBANE RS 96,972 0 96,972 =5
SL3H)

23 5,872,938 5,985,496 82,558 A1.3%
oot - =2 5,872,938 5,985,4%6 N\82,558 A1.3%%

o= 2| 3,702,190 3,702,190 0 0.00%
Negate 2 (A4-ZAIGSESA) 2,412,190 2,412,190 0 0.00%
Nga=C A (M=ZAILSESIA) 1,290,000 1,290,000 0 0.00%

HFEY FEXS EH 2,052,783 2,221,39% 168,607 AT .5
SR =0T (AEZFEMNEELSIA) 1,672,346 1,641,346 31,000 1.8%
ZEY 2 XALM) |2 2E(ZELHZHERNY 40,000 40,000 0 0.00%
LXIISELE)

ZEY MR SENE XY (HE2SEMEE 340,442 540,049 199,607 N\36.96%
E3H)

HRES(=TAIEL) 117,960 31,911 86,049 269.65%
BENE(=TAEL/EHNLSLEIA) (BES 117,960 31,911 86,049 269.65%
SEINESESIA)

NEIEN 2,286,944 2,327,3% A\40,450 AN1.74%
DIES S-S, 2,286,944 2,327,3% 240,450 A.T74%

D ZMEEE Y HASE MEHEHXR 1,036,163 1,076,613 240,450 N3.76%
JI==Skt dEotElzg 2 (M) LS 223,939 223,939 0 0.00%
A)

o220 2t 22l (ASS0HSESIH) 812,224 852,674 A\40,450 NL T4

WREs (=R 1,250,781 1,250,781 0 0.00%
BEXE(ZSHSESA) 22,793 22,793 0 0.00%
SHIAE(NH2I13)(AHEIISSESIH) 1,227,988 1,227,988 0 0.00%

S at 5,426,182 5,411,366 14,816 0.27%
sg -5 5,426,182 5,411,366 14,816 0.27%

SEEAs XA 5,426,182 5,411,366 14,816 0.27%
SHEASEU NN (SHAASEUMAES 5,426,182 5,411,366 14,816 0.27%
H3H)

A - SAT SR X 177,592 59,600 117,992 197.97%
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